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UNIT 4: SYSTEMS OF
LINEAR EQUATIONS

DISTANCE BETWEEN TWO
POINTS ON A LINE

OF A LINE SEGMENT

M. MALTBY INGERSOLL
NUMBERS, RELATIONS AND FUNCTIONS 10



WHAT'S THE POINT OF TODAY'S LESSON?

We will begin working on the NRF 10 Specific
Curriculum Outcome (SCO) "Relations and
Functions 8" OR "RF8" which states:

RF8: '"Solve problems that involve the distance
between two points and the midpoint of a line
segment."



What does THAT mean???

SCO RF8 means that we will:

* determine the distance between two points on a Cartesian plane
using a variety of strategies

* determine the midpoint of a line segment
given the endpoints of the segment using a
variety of strategies

* determine an endpoint of a line segment given
the other endpoint and the midpoint using a
variety of strategies

* solve a contextual problem involving distance
between two points or the midpoint of a line
segment




Distance Between Two Points

You can use the Pythagorean
Theorem to get the length of AB

DISTANCE FORMULA:

d= \/ (xz — )E + (J”z — N )E
“,J [3-(-5)] +(3-"

NI

N L
= AP

= .9




EXAMPLE:

d = \/(Iz — Y )l + (sz — N )E

Use the distance formula to show that the triangle with
vertices A(-3 ,1),B(1,7)&C (5, 1) is isosceles.

B(1,7)

A (-3, 1) c(Bb,1)

/

Ao ) (x;—f»f.)“f(jg-la.)z Be:y) (’X,;'V.\’”‘J;’ﬂ-)z
N CI-(-3)*+( #1) > '\) (,-5)’-1—(}');7:

=N 4 67 ) —
) 1ot 3 Ut
VS =) 1 +36
= ¥ = nBL
= 21.0

AB=BC= T 2unts )Hurth— AABC is
sosceles .



YOU TRY!

d = \/(“Tz —Y )l T (sz — N )3

Show that the points (5,-1), (2, 8) & (-2, 0) lie on a circle
whose cegnter iB 2,3). A ® C

%, Y\

807 ) (1% V4 (Y 2=y

) ,\) (2-5)*+ [3-(-0))? =/\J (2,7_\7-_|_ L3-/?§7‘4

NI _
= 25 \J 25
= g —_S’

- 2, 2% Pm:é""c":SMnih
.\j 1 ‘H\e\" Gre Po:r\\—s Hat

) ’\) bt 4 lie on Hhi'$ cird.

~AL253 Theyave all Sunits

> fom Yy eontve .




Midpoint of a Line

B (5, 14)

A(-3, 6)

midpomt (x, y) _}

|I ..} .‘

) (—3+5 b +14
)



EXAMPLE:

~

midpomt (x, y) = ‘

The endpoints of a diameter of a circle are (-5 , 6)
and (11 , 12). Find the coordinates of the center

of the circle. _
[ -8+l b+ 12
(11 , 12) 2 ) 2
- /b 1
(-5, 6) pa 2



midpomt (x, y)

EXAMPLE: ~ ‘ X Hx, YAy,
L2

-

One endpoint of a line segment is (-4 , 3). The
midpoint is (-3 , 6). Find the othe® engpoint.

X
X = X Xy "}7‘1"“1’1
pa 2.
4 _
_5:_"_1'1-\~’>( b =35+Y4%
2 2
b= "4 4 |2 = ’5-\-%
-2 =% Q‘;‘j«

The second endpoint of-Ha g Was 2.9



YOU TRY!

-‘. + -‘. ;1 ?1 + Jrz l‘l‘ll‘

-

midpomt (x, y) = ‘

Find the midpoint of the line with endpoints (2,1) & (8,-13).

- 7~’r?) |13
2 2.

= < 10 ,&\
S T=

= (5,-6)

10



YOU TRY!

L (x +x, v, 4+,
;f:nm’p{:rult(.x:j-‘)Z‘ 2 = = :

A line has endpoint (10 6) & midpoint (4 -2) Find the other
endpoint.

y:y\.‘_yl UA' VJ \_%2‘
2

g= 1o+ X “2”____%
> 2

T= 10+ X ‘IH:_ ot

_2—,./>< D’(ﬁ'

2™ endpoint s (-2,-10)

11



CONCEPT REINFORCEMENT:

WORKSHEETS:

"Distance Formula - Worksheet 1'": #1 TO #10

"The Midpoint Formula'':

Left Side (#1, #3, #5... TO #29)

12



Attachments

Worksheet - Review of Coordinate Geometry (Math 10).doc
area of a triangle.doc

coord geom review.doc

Puzzle Worksheet - Graphing #2 (Coffee).pdf

Puzzle Worksheet - Graphing #1 (Cow).pdf

Puzzle Worksheet - Slope Point (given both).pdf

Puzzle Worksheet - Slope Point (given two points).pdf
Worksheet - Equation of a Line.pdf

Worksheet Solutions - Equation of a Line.pdf

Worksheet - Distance_Midpoint(2).pdf
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1. State the point-slope form of the equatfion of the line through the
given point and having the given slope.

UW:,

CRALY \t\ﬁ‘\ﬁ

(a) (3,2); m=4 (b) (1,4); m=6
(c) (-2,5); m=1 (d) (=7, —2); m=5
(e) (=3.—4:m=-2 (f) (6,0}, m=—4

2. State the slope y-intercept form of the equation of the line with the
given slope m and y-intercept b.

(a} m=2;b=3 (c) m 5,b:~3 (é) m=-%b=0
(b) m=-4;b=5 (d) m=3; b= (fy m=0;b=-6
3. State the slope and y-intercept of the following linear functions.
(a) y=3x-7 (b) y=—3x+5
(¢) y=—bx—-4 (d) y=7x
2561
(o) y="2 () y+7=2x
(g) y+3x=4 (h) 2x—-3=y
(i) Bx+y—-2=0 (i) 7x=3+y
(k) dx—y=5 (1} 3x+2y=5
(m) x+3y=-2 (n) 6x—y—4=0

4. Determine an equation of the line through the given point and
having the given slope. Express the equation in the form
Ax+By+C=0. :

(a) (2,1); m=3 (b) (-3,4); m=5

(c) (4,-5); m=-1 (d) (=1,-2); m=7

(e) (5,0);m=-6 (f) (0,-5); m=1

(@) (=1,6);,m=0 (h) (4,-3); no slope

(i) (-6,4); m=— () =Fo=1): mi=1

5. Write the equation of the linear function through (—4, 5) with slope
{ {a) 2 (b) —4 (¢} 1.5 (d) —0.5 (e) —2.5

6. Write the equation of the line having slope % and containing the
point

(a) (0,0) (b) (=3,2) (¢} (=3.5) (d) (5,-3) (e) (0,-6)

: 7. Determine an equation of the line through the given point and

having the given slope. Express the equation in the form y=mx+b
and determine two other points on the line.

(a) (1,2); m=3 (b )(——‘i 41);m=—2
(c (e O) m 2 (d) (4, —2); m=—05
) (0, m=3 h‘) - 3—6) m=0
g)( ) m =} (h) (10,20); m=0.2

8. Determme an equation of the line through the given points. Ex-
press the equation in the Form Ax+By+C=0.7
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&) (1.2, 12 4) (b) (5,6).(7, 8)

(e) (2.3).(=2, 1) (d)(~1,4), (5, 1)

(e) (=2, =1), (4,~2) (f) (=6,4),(-1,-2)

(g) (10,8), (-3, 1) (h) (2,B), (7, —4)

i B-1.06 -5 (1) (=87),.(15:3)

(k) (25,3), (=3, —23) {1} (=% =13).(2:23

(m)(-3.8, 12),(1 2 27) (n) (~4.5,6), (—1.5, —4)

o) (—4,0), (0, (p) (4,6), (4, -2)

() (=2, -3), (4 3 (r) (1.2,‘] 2) (=36, -3:6) :

Q 1;v’b’;{érrﬂlyr{(;ﬂan' equamon “of the line whose x- and y- intercepts are
respectivel 3
0 D3 . g (c) 2 and. =5 el -8 and 4

b} —2and 4 {d} 1 and —6 (f) 3-and =7

13. Determine an equation of the line through (—3,4) and having the

same y-intercept as 2x—3y =6.

14, Determine an equation of the line through (
same slope as the graph of 2x+3y=7.

15. Determine an equation of the line having the-same: X- -intercept as
4x—3y—12=0 and the same slope as the graph of 2x+by=7.

16. Determine an equation of the line through (—1,3) and havmg its
x-intercept equal to its y-intercept. o2

—3, —2) and having the
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The following steps may help you to simplify the procedure.

Step 1 Step 2 Step 3

Record the vertices in Calculate the Calculate the

a counterclockwise order. down-products.  up-products.
Axm y1) . X1 Y1 X1 V1
(325 ¥2) X Y2 X2 ab) (Repeat the
(x3, ¥3) X3 Y3 X3 V3 first pair.)
(1, ¥1) X1 Y1 X1 Y1

— .

1
APQR = 5 |(Sum of Down-Products) — (Sum of Up-Products)|

= W‘XQN +X2Y3 + X3y — (X193 + X3¥, + xn.f:
|

This formula will be used in the following example to find the area of a
triangle from its vertices. .

Example  Calculate the area of APQR with vertices at P(2,4), Q(2, —3) and

R(-5,2).
Solution List the vertices in a Calculate Calculate
counterclockwise order. down-products. up-products.
2.4 2 4 N 4
(=5,2) PR

AN!, _ 3) N/ 3 \
@4 2 g 4

APQR =1|(4 + 15+ 8) — (=6 + 4 — 20)|
=127 422 =%

The area of APQR is 42 square units.

)33 square units

(@), (0), (d)
units

61

—- square units
2 q!
7.a) 5 square units b)7 square units

43

> square units b)25,square units
quare units d).

41
— s
2

21

1.b)22 square units ¢)22 square units
21

6.10 Exercise, page 238

2.a)

D)

3.2)0 square units b)collinear 4.
S.a)(—1, —4) b)33 square units
6.b)54 square units ¢)54 square
€)36 square units

0 Exercise

31 AABC has vertices A(—2, —5), B(3, — 6) and C(7, 2).
(a) Sketch the triangle.
(b) Calculate the area of AABC by listing the vertices in a clockwise oaﬂ
(c) Calculate the area of AABC by listing the vertices in a
counterclockwise order. )
(d) How are your solutions in (b) and (c) similar? How are they different?

= =

Calculate the area of the triangle with these vertices.
@ (52 (-2,0) (1,-5) b2 (=51 (9 -3
© @43 (74  (10,-2) (@ (-3,5 (=6 -3) (~1,-4) ‘

The vertices of ASTU are S(—1, —5), T(5, —2) and U(3, —3).

(a) Calculate the area of ASTU.

(b) Based on your results in (a), what conclusion can you make about the
points S, T, and U? .

Determine which sets of points are collinear. Use your skill in finding
the area of a triangle.

(a) S(6,0) TR, —3)  U(=2 —6)
(b) D(—1,2)  EG,6) F(—7, —-3)
(© P(—2, —1) Q(—6,—3) R, 1)

(d) G2, 4 H(-4,0)  K(=7, —2)

TN

The vertices of Nwow. are P(6, —5), Q(2, 5) and R(—8, —3).

(2) Find the coordinates of S, the midpoint of RP.

(b) Calculate the area of AQRS.

(c) Calculate the area of APQS.

(d) Use your results in (a) to (c) to explain why “the median QS bisécts
the area of APQR”.

Area of a Polygon
To find the area of a polygon, use the same procedure that you used to

find the area of a triangle. »FE5

Rectangle PQRS is given by the vertices P(— 5, 3), Q(4,3), R(4, —3) and S(—5, =3).
(2) Draw a sketch of the rectangle.

(b) Calculate the area of the rectangle, using the formula 4 = b x h,
base, b, height, h.

(¢) Calculate the area of the rectangle by using Vertices of rect PQRS
the same procedure for calculating the area of -5 3
a triangle except include the 4™ vertex as shown 4 3
for the list of vertices. 4 -3,
-5 =3
-5 3

The vertices of various polygons are given. Calculate the area.
A(0, 0), B(3, 2), C(1, 4), D(—2, 3)

(b) S(—5,2), T(—35, —3), U, —5), V(3, —2)

(©) M(=3,3), P(=3, —2), QO, —4), R(3, —2), V(3, 3)
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GEOMETRY AND APPLICATIONS 112
REVIEW: COORDINATE GEOMETRY

i

?_

C(-3,7) and D(1,-5) are two VE@(&O}; rectangle ABCD, find the equation of side
AD of this rectangle.

.
L

(t=2yp -13=0]

. The endpoints of the diameter of a circle are (15,4) and ( -9,6) . Find the length of

the radius of the circle. r \é

riangle ABC has vertices A,('-r,7), B(-3,-5),and C(7,-3)
) Find the equation of the median from A, Hy-3y-23° 0
b) Find the equation of the altitude from B. 3. Ay -35<0
¢) Find the equation of the right-bisector of side AB. {7 +3y -5=0
d) Determine the area or triangle AB%.: 8

. Prove using slopes that the points A(-8,4) , B(3,2) , C(9,10), and D(-2,12) are the

vertices of a parallelogram.

Find the equation of a line with an x-intercept of 3 and a y-intercept of 6. L@f_j_—j;ﬁigj

Find the value of k so that the graph of 7x - 2&y = 6 is perpendicular to 4x + 2y - 1 =0 f)z

10. Determine the equation of a line havmg the same x- mtercept asdx-3y-12=0

and parallel to the line 2x + 5y = 7.

l/_,._,/
(o727 KE,J

er s VT
1. On a coordinate axes draw triangle ABC with vertices A(6,-2), B(2,6) and p¢- \)‘//a//
C(0,-4). (plot neatly on a graph) Ay ZD

‘ & s

2. Determine the lengths of the sides of AABC, and classify it as scalene,
isosceles or equilateral.

ind the mid-point M, of side AC. (2,"3)

w
n

N

Find the slope of median BM. = "1

a

_Find the equation of median BM.  Tx +y A7 =0

»

. Find the equation of the altitude drawn from A. X + // +

7. Determine the equation of the right-bisector of AB
8. P'ove that the line segr
AC is parallef to BC.

9. Calculate the area of AA

Determine the area of the polygon
nd the mid-points of AB and AC.

b

10. Join the mid-points of AB an
consisting of the vertices B, C ,

0 .(7

L
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Review: Coordinate Geometry


SMART Notebook


iation below. The graph, if exter will
tains the number of that exerc
ot e ;

I I
| i O | 5 [0 | f 1
i | | | i
L [ W |
| ¥
l X
Kl % t
[ 0 | D
[ N B | i
R {14 [+ 11 Py LT T
R U 3

R
Lot
ro
>
1
_J
H
(53]
@
. (#%]
>
i
-
H
—feld
l
€.
>
|
(4]
~
i
ok
(=

NERZEENE 1Ty L LT IvETT
i i ] | b N | i
P4 I H ! E 1
] e | £ E
: [ I G 11 L ] R
} i 1| | | I x [
| | i Ix [ 1] | i -
I A K ik
' ] i
| | Lyt L0y ,
= N B

fa
»<
+
(]
=
il
©
<o
N
=
I
N
e
4
3]
i
[as}
w
b -2
|
w
il
L5 )

| y i [ v [ I v3 [
i ] | | (e
E 1} 7 ; I . ] | ' I P
I 3. U {
T N ‘ N I { il |’
i i i x i N ! | x|
[ 1 i | o L1 ix] D | |
1 [ |4 I | |
I . I | i1 i |
NN = i | Ll __I_;T 1 "|"j
T i o7
I o e O U
S a 5 4 3 5 ’ 2 g 1 & 9 8 1 4 8 4 E
l 1] l p
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Why Did the Cow Want g Divorce?

Graph each equation beiow. The

the string of letters near the

SHERI @B it

graph, if extended, will cross = lstter. Lock for this jatt
bottorn of the page and CRCSS
When you finish, write tha remaining letters in the rect

ITQUT each time it appear
angie at the botlom of the page,

2

y=-2
L1 Ty |

I

I
.
' |_]

| 1x]
> :

SiBIsI810 0 -0 ¢ 5.6 u0,eue €€ ee0ne 0 gy

CSIHOWEHOFANDAPLBOIULFGOY

HELEG IR G 1QIQ 1S I gy

‘@)» 2x—-3y=9
T

ENE 5
LTI 1771

QIS LG IS 166w

MSIPTOWEIERN

Answer:

g

158 © 1983 Creative Pubiications

OBJECTIVE 5—

m: To graph a line Given its equation (inciudes vertical lings).
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‘Why Did Gyro Go Into a Bakery? @\

For each exe{cise below, find the equation of the line that has the given slope and passes
through the given point. Circle the letter next to the correct equation. Then write this letter in
each box at the bottom of the page that contains the number of that exercise.

(1) m=2;(3,2 G]  y=2x+1 R] y=2x—4
(@) m=-3;(1,4) O] y=-3x+7 Pl  y=-3x+2
(@) m=-5;(-1,3) y=-5x-2 D] y=-5x+6
(@) m=3; (=4, -7) V] y=8x+1 y=3x+5
(6) m=-1;(5, -2) Ul  y=-x+3 [c] y=-x-1
(®) m=%:(61 W] y=2x-5 [A]  y=2x-2
@) m=-% 3 4) Al y=-%-7 (] y=-2x+s
®) m=% (-2,0) K] y=3x+3 [Fl  y=%2x+2
@r-den B b B sy
{0) m=4; (-—1,—12—) A y=4x——% (1] y=4x+-g-
@9 m=-2;(0,0) (L] y=-2x [B] y=-2¢-2
@ w=0(-s3 [ 7 y=—5x —
R e e e i R &:RT:&:%’?:&E
Ho |5 |12]10 t{1ol64l12|3 |4 |11[11]| 2] 8|70

N

OBJECTIVE 5-n: To find an equation of a line

given the slope and one point on the line.

© 1989 Creative Publications 19
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that exercise.

Answers: o

QD y=x+3 @D y=gr-4
GD) y=px-7 y=2x+3
CD y=-3%+1 (EYD y=4x+7

yz_%g_4 L) y=2x+1

y=gx-1 y=—gx+4

What Happened When
Two Fruit Companies Merged ?

For each exercise below, find the equation of the line passing through the
) given points. Circle the two letters next to the correct equation. Then write these
i letters in the two boxes at the bottom of the page that contain the number of

VN e A oo S Y T S £ 0

o R A LSS S

X\ 2P LA FASEIL e I S5 A o+ L AP A e

RS

OBJECTIVE 5-0: To find an equation of a line given
two points on that line (not using the graph)
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NRF 10 Name:
Homework Assignment - Coordinate Geometry
INSTRUCTIONS: Show all your work in the space provided and make sure the equation is in the specified form!

Check Up... Finding the Equation of a Line

#1. Determine the equation of the line given that...
(Put equations in slope-intercept Form)
a) the line passes through the points (-3, 5) & (-2, -7)

b) the line passes through the point (-2, 3) has the same slope
as the line 3x - 2y -5 =0

c) the line has an x-intercept of 4 and a y-intercept of -3

d) passes through the point (-3, 0) and is perpendicular to the
line3x-12y+2=0

#2. Determine the equation of each of the following lines...
(Express equations in GENERAL FORM)

a) passing through the ordered pair (-2, 3) and with slope 5/3

b) passing through the ordered pairs (6, -1) and (0, -3)

c) passing through the point (1, 2) and parallel to the line 2x - By +1 =0

#3. Show that the triangle whose vertices have the coordinates (3, 3). (8, 17) & (11, 5)
is a right triangle.
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NRF 10 Name: /@'
v

Homework Assignment - Coordinate Geometry
INSTRUCTIONS: Show all your work in the space provided and make sure the equation is in the specified form!

Check Up... Finding the Equation of a Line OfT'oN #1 = [g=mx4b

#1. Determine the equation of the line given that... DPTlen ¢ ) "]/’75 mx- xi)
(Put equations in slope-intercept Form)
a) the line passes through the points (-3, 5) & (-2, -7)

M=-1-S =t | yS=~aixs3)
-2-¢-3) (~3.5) j,-g’: ~(Ax 36
=1 posme: W —
. J==td %~3645
sl
b) the line passes through the point (-2, 3) has the same slope
as the line 3x - 2y -5 =0 y-3=3 (x+2)
—}\j::};+’?’_ Mm=3 2 = 3
Lol 2 Y-3=3% +3 J=2 xib
. ’; s S" ( =k ' 3 ) ? l
J=2r-% - 3+ 3
& 3 j . 3/2 x t
¢) the line has an x-intercept of 4 and a y-intercept of -3
(4°) rvx"“fif' \\:jf"‘i)ﬁ -3
(o ] _5) = }- | ‘f
“y
o

d) passes through the point (-3, 0) and is perpendicular to the

line3x-12y+2 =0
‘_'23::_3,(-1 M_L,: —4 j—-(.): "‘((’fo)
o R PR } [““{'2.}
‘-j: _Lx+_| (““3,&) 7'—‘ x [
A 'S

#2. Determine the equation of each of the following lines...
(Express equations in GENERAL FORM)

a) pa_ssin%_’rhro_ugh the ordered pair (-2, 3) and with slope 5/3
3»3 -3 =X§ (%+2)
P e B
3yf‘?: Sx+1S jjjx—%—fl?-‘d\
- & SX"fj‘f 7o

b) passing through the ordered pairs (6, -1) and (O, -3)

M= =3 (=) oyt ey gt
i i = X ~-
0-6 3
"% en- 1 ez 7m0
- o —‘xf?y-?
= 4

c) passing :r’hrough the point (1, 2) and parallel o the line 2x - 5y +1 =0
'%j“"l‘“’ m=2 fyf;z:é_?x-/)
/ A

5 =5 s
—
37 2xel Rt} Sj-—loiv’—x*l }023(*33'}8:0
0 Ix -3‘7 4 =7
#3. Show that the triangle whose vertices have the coordinates (3. 3). (8. 17) & (11, 5)
is a right triangle. A 3 &
Mags 113 mg = 3=17 Mp = S-3 o
§-3 R (E ¢ S u-3
_ /3

\{

{
< 2 o
> r—\g———/ r<y. f7ealy
- ,S/ - / ({_ﬂ B _{
) ‘x";‘)("\vbu«‘vv’ = (f !
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| REVIEW EXERUISE 3F |

.ance between each pair of points.

- 1. Find the
(a) (7,11).(5,2)
(c)
(e)

5 -1), (-5, 2)
&) (-3,~1),(~4,~2) i il
5 : i ine segment joining the
2. Find the midpoint of the line seg
ints.
gy (b) (3, 1), (7,11)
(a) (8, 6). (2, 8) (d) (—2,-5), (-8.7)
’\C) ("3,6)1 (71—‘ ! . TR e .= =
Review Exercise ¥ | ‘
1. (2) /85 b 22 () 62
@13 (o) V2 (f) V109
2. (a) (5,4) (b} (5,6) © (2,~1)
(d) (-5, 1) (@) (63, -41)  (§) (2,-23) 5
e ) - - d
mRE N 23 o ® Noo a wn o[
B o B e e S e s e e e~
.?Efiﬁ&aﬁaaaa3333&33:33&3335
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(-2, 0), (4, —6)

(b} (—3,4),(~5,8)
(d) (8,—7); (8, —4)

0
0

Findin J'x < ‘j 'a‘:\‘x{'rft‘{i‘*‘s R e
EXERCISE 4-2 ="'y R~
{nel | '\"\“’\«; em‘\\a-\ A a l\f\&
1. State the point-slope form of the equation of the line through the
given point and having the given slope.
(@) (3,2); m=4 (b) (1,4); m=6
(c) (—2,5); m=1 (d) (=7,-2); m=5
(e) (—3.-4); m=-2 (f) (6,0); m=-4

2. State the slope y-intercept form of the equation of the line with the
- given slope m and y-intercept b.

(a) m=2; b=3 (¢) m=5;b=-3 (e) m=-%b=0
(b) m=-4;b=5 (d) m=3; b=-7 (f) m=0;b=-6
3. State the slope and y-intercept of the following linear functions.
(a) y=3x-7 (b) y=—}x+5

(¢) y=-5x—-4 (d) y=7x

2x~"1

(o) y==% (f) y+7=2x

(9) y+3x=4 (h) 2x—3=y

(i) Bx+y—-2=0 () 7x=3+y

(k) 4x—y=5 () 3x+2y=5
(M) x+3y=-2 (n) 6x—y—4=01

4. Determine an equation of the line through the given point and
having the given slope. Express the equation in the form
' Ax+By+C=0. '
(b) (~3,4); m=5
{d) (-1,-2); m=7
{f) (0,-5); m=1
(9) (-1,6);.m=0 (h) (4, -3); no slope
(i) (~6,4); m=—] () =7,-1); m=3
5. Write the equation of the linear function through (—4, 5) with slope
(a) 2 (b) ~4 () 1.5 (d) ~0.5 (e) —2.5
6. Write the equation of the line having slope % and containing the
point
(a) (0,0) (b) (=3,2)  (¢) (=3,5) (d) (5,-3) - (e) (0,-6)
7. Determine an equation of the line through the given point and
having the given slope. Express the equation in the form y=mx-+b
and determine two othet points on the line.
(a) (1,2); m=3 (b) (~1,-1); m==2
(c) (3,0); m=2 (d) (4, -2); m=-05
(e) (0,-3); m=1 (f) (-5,-6); m=0
(g) (-3,4); m=2 (h) (10,20); m=02
8. Determine an equation of the line through the given points. Ex-
press the equation in the form Ax+By+C=0.""
(a) (1,2),(2,4) © . (b) (5,6),(7,8)

(@) (2,1); m=3
(c) (4,-5); m=-1
(e) (5,0);m=-6

_\I\“\g,f‘t W\:‘>S\o

a line =

b=y,

Need ¢ ¢

@ SN - .S\e\-;{ '. el -

E _ . lrirn ,;.’V\:>A .S..\Q?L

%&&JsiQSskga
Yroriy 4l

@0enest: €
S

/-w/-! (SQ{* Qbuv..\"‘“ Z‘{Tb

SB\;F{ and () j"‘i’m‘\‘uu&\o‘j\’

ot

PQ

() 42.3), (=2, -1) (d) {~1,4), (5, 1)
o o ) (-6,4),(-1,~2)

(g) (10,8),(—3,1) (h) (2,5),(7,-4)

(i) (3,—1),(~8,-5) Q) (~6,7), (1,~3)
(m)(=3.8,1.2), (1.2, 2.7) (n) {~4.5, 8),{-1.5,—4)
(o) {~4,0), (0, ~8) (p) (4,6), (4, —2)

(Q) (—2, _3)1 (4, —3) (r) (1.2' 1‘2)1 (*3.6_, _3.6) N
r 1;:"5;{ehrrr”1fr;e;-a-n' é'quation of the line whose x- and y-intercepts are
respectively ;
(a) 3 and 6 (c) 2 and =5 (e) —8 and -
(b) =2 and 4 _(d) -1 and -6 (f) 3and -
13. Determine an equation of the line through (-3, 4) and having ths
same y-intercept as 2x—3y =6. .

14. Determine an equation of the line through (=3, —2) and having th:
same slope as the graph of 2x+3y=7. i . .

15. Determine an equation of the line having the same x-intercept a
4x—3y—12=0 and the same slope as the graph of 2x+5y=7.

16. Determine an equation of the line through (—1,3) and having it

L"n"s 3\\' o .?b\;\\ o \aa
;:mw\_ @) ?n.q'\ s YA Ve

=" hem)

,V\b{‘rw‘\ww) p\‘;‘\s \)TJS("\‘NQX

x-intercept equal to its y-intercept. -

: : 72
o Distrnce Farmaln > d= N () (1275,)
O ner '\‘L::-\—\-.L\V \ \ eSS o

‘ﬂ!!ﬁﬂj=#|

@ weehica . \?ilugx :
' quv.szﬂio( Stope j ‘} X= H")
& ‘?am\\t\ \ines |

@ M{c\(‘o“’\ -

® ?ei-[)fmiku&w lines
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